Total No. of printed pages = 6
Hu-101/Com.in Eng-1/1st Sem/May/2013

COMMUNICATION IN ENGLISH -1
Full Marks - 70
Pass Marks — 21
Time — Three hours

The figures in the margin indicate full marks
for the questions.

1. Fill up the gaps using the correct verb in the
following sentences : 8

(i) The issues which have been considered in the
previous section us to speculate on
certain important problems. (allow)

(i) The only people who are interested in the

book to be lawyers. (seem)

(iii) An early analysis of the results that
the socialists have won. (show)

(iv) The country’s first general election to

be held next mouth. (be)

(v) People running in all directions,
trying to get away. (be)
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2. Change the voice of the following sentences
(any six): 6

6)) Eveijy student must read this book.

(i1) Post the letter imm-ediately. _

(iii) English is spoken all over the world.
(iv) She was doing the work.

(v) The Oil India Group offered him a new post.
(vi) He helped all the boys.

,(vii)Hari laughs at the beggar.

3. Rewrite the following sentences using the proper
tense of the verbs in brackets (any six) : 6

(i) He (work) in a factory before he fell ill.

(ii) They (meet) the Chief Minister tonight at
8 O’clock at his office.

(iii) I wish I (be) a bird.

(iv) The principal (want) to speak to you.
(v) T (know) you' for a long time.

(vi) I (read) a book when she came in.

(vii) I don’t want to see the film ; I already (see)
it.
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4. Join the following sentences using a relative
clause : ; 5x2=10

(i) Our teacher is very kind. His name is Mr.
Smith.

(ii) This is the man. I showed my licence to him.

(iii) My brother is in the army. He came to see
us. -

(iv) The couple live next to us. They have sixteen
grandchildren.

(v) Stevenson is an architect. Her designs have
won international praise.

5. Fill in the blanks with appropriate prepositions.
(any eight) : ' 8

(i) 1 shall come back ——an hour.

(ii) He stood —— the door.

(iii) The Policeman ran —— the pickpocket.
(iv) Birds fly —— the tall trees.

an hour.

(v) He has been waiting

(vi) The ring is made — gold.
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(vii) The cow lives —— grass.

(viii) The train is due 12 noon.

Wednesdéy. )

(ix) He came

6. Rewrite the following sentences using the correct
modal auxiliary in response to the meaning given

in brackets (any five) : 3
(i) She —— not go now. (compulsion)
(ii) He walk for an hour in the morning.

(a past habit)

(iii) ————— you please tell me his address ?
(a polite question)

(iv) You be punished for this. (threat)

(v) We love our country. (obligation)

(vi) I use&our pen, Sir ? (permission)
7. Punctuate the following sentences : 5x2=10

(i) keats says a thing of beauty is a joy for ever

(11) high and low rich and poor wise and foolish
must all die
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(iii) come in time delay may spoil your chance

(iv) he has lost everything money clothes and
documents

(v) he is out and his father is also not at home

8. (i) Derive nouns from the following words : 4

(a) abolish (b) behave
(c) sit (d) punish
(e) curious (f) different
(g) hot (h) wise
(if) Derive verbs from the following words : 4
(a) cloth (b) sympathy
(c) practice (d) pure
(e) rich (f) hard
(g) length (h) company.
(iii) Derive adjectives from the following words :
4
(a) mother (b) publicity
(c) love . (d) ignorance
(e) ensure (f) nature
(g) peace (h) depth
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9. (1) Form two words from each prefix given

below : 4
(a) mis— (b) re-
(c) fore— (d) auto-
(ii) Form two words from each suffix given
below : _ " 4
(a) —ation (b) —ive
(c) —wise (d) —ful
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